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Total No. of Questions: 100

Duration : 2 Hours Maximum Marks : 100

INSTRUCTIONS TO THE CANDIDATE
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12.
13.

This is a question paper only. A separate Oplical Mark ‘Reader (OMR)
answer sheel is issued to you.

Candidate should sign in the space provided on the OMR answer sheet.
Further ensure that the invigilator puts hisfher signature in the space
provided on the OMR answer sheet.

All answers have to be marked with black/blye ball-point pen in the OMR
sheet supplied.

Immediately after opening the question paper bocklel by tearing off the
paper seal, please check for (i) the same booklet set code (A/B/C/D) on
each page, (ii) serial number of questions (1-100), (iil) the number of pages
and (iv) correct printing. In case of any defect, please report to the invigilator
and ask for replacement (by same sel code) immediately.

Each right answer will be awatded one mark. There is no negalive marking.

Use of calculators, mathematicalflog tables, mobiles, blue tooth devices or
any other eleclronic gadgets is strictly prohibited.

The candidate mustfill the hall-ticket number in the space provided above.
The OMR sheet should not be folded, bent or rolled.

Name of the candidate and hall-ticket number should not be written any
where on the question paper.

No part or page of the question booklet and OMR sheet be torn, detached or
removed

The OMR answer sheel should be returned at the end of examination.
However the question paper booklet may be taken away by the candidate,

Any candidale indulging in mal-practice will be disqualified.

This question paper booklet consists of 100 questions and the total number
of pages are 32.
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GENERAL APTITUDE

NUMERICAL ABILITY

If the number | ”58#16 is exactly divisible by 11, then + =
135816 od Leg 11 3 Fyhom rhodudd » Jud

= }::CE:Lg'gf- ;_,‘,.{.c.‘llfl!::ﬁ‘lﬁ st

0 (b) 1 (c) 2 (d). 4

The area of a rectangular room is 84 sq.m, If the breadth of the room is 5 m less
than its length, the perimeter of the room (in metres) is

B¢ SRS I 40 a%, Froghy 84 5.0, ABGDETdLy, PEY 0B 5 D,
S8 300 10 @) Lwsud (Db’

& (LW S 5m:.Jde Mgl fuidle #8580

(@ 12 (b 7 (c)” 21 @ 38

[f a two digit number is 4 times the sum and it is also 2 times the product of the
digits of the number, then this number is
28 Buth woSe Dowg, ¥ 8oSy Ea:u'.ﬁs 4 Bew, BAH © voSu ow.’&é 2 0w

sd, u Rows

Wlmsie e’ zf..‘;j’umf.iﬁ' WESUrsLssisinatl

@ 2~ ()2 () 4BY - ()96
:L 1{ H'}_.-
Uzsa)h (1230)2
A+ (1232 4
2 (by -2 () 1 (d -17
2 cu)
55“55 25 %7
1 4 3 3
(2) 255 G 1%z @ 253 (@ 263

HCF of the numbers 108, 144, 180 is
108, 144, 180 = }‘l.'-og:s:.- oy .39

EAd (HCF)-L.E - 7§ 1801440108 o -
(@) 2160 . (b 72 @ 3 (d) 18

Find the number which when added to itself seven times gives 56.
a8 Lopgh oF Dowgs 7 15 K0V8 56 HO Y Bde ¢ Lowg

-&- rﬂuwbﬂﬁ;f_tglir'.’ S hl!?_-':,fl.fa E.-:. 23 mse
(a) 7 8 (¢) 28 (d) 56
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An iron sheet is moulded to form & cone of height 4 m and base radius 3 m. Then
the arca of the iron sheet [in qq m) is

o =l 3%h 4 D 3, 3L P ygor Ko af deiym HEN0, «iHd
@il B Fvego (3, &b, L:S‘]

,ﬁ;ﬂj 'I£L:'35¢.3 rn)"'_n-r {r_,«-.._._,a el J:.'!/"fl Lﬁ'-’l | ~":..-"q,r£.:._ﬁ

K (W2287)
127 (b) 13r (c) l4r ) 15n

The perimeter of a rectanguiar plot of lund, with one side as 8 m is 160 m. If a

square land of side 8 m is sold for a shop frum this land; what is the perimeter of
the remaining plot of land (in metres) ”

2% Zhatn 8 &, o o 28 8 SEHHTE0Y WrdahE) St Fed 160 . 2.8
shetn 8 . T Ao SRSy pore) & drdidod 3630 endtn dde
BADS e @g), Sty T (D63EY)

FEASNINE 8 me kb o 160 mbeifts £ o2 2L ins mdUS 01
T () B g s V4 T2 bl Sz s e SRS S
@ 144 (b) 40 (e} 32 (d) 64

The cost of paving a square hall with tiles at the rate of ¥ 48 per square metre is
T 3,888. The perimeter of the square hall (in metres) is

a8 SHYRSEY A0 VeV wobhes (BG) VHDOH ol SS8 Doshh &, 48
Shyd ol & 3888 piy ol o IREISEY 10 DY HeEud
(20gS®)

e (LS G riaints 8885 2 g 1, :v.._J Bl AL TR0
36 (b) &I (c) 480 (d) 364

There are 10 teams in a league. If each team is to play with every other team in the
league exactly once, then the total number of games to be scheduled is

28 D% 10 2ty aaman. @8 2& S I 240 2uf o8 28>0 vdduld
gbdée 2dADoln Mndin vbo Long
APG U Rontka p GG DL (S it St 10 b’

e

(a) 40 45 (c)y 50 (d) 42
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There are six chairs in a row, Three men and three women are to be seated
alternatively. The possible number of ways of scating is
ud Hje 2.8 26 aamyon. wwiil Pt Do "wﬁ;&: ey 250 dld
2800 SrU)R D, oy St E".:= FORDE Sy )T
-;,{*f Jh.:’,'_,ﬁzj’-:—l';’l.in;r-ﬂ:ﬂl).'ﬂd.' n.'--“:‘.'._,».'.h’.‘ag.?u.".-‘l.um;!" '3 f._,:.’;,-’..;:._.@-ﬁ% L,t:[&:"_;
(a) 256 144 () 36 () 72
From the top of a tower of height 40 feet, the angles of depressioniof two objects
on south and north directions are 45°, 45° respectively. Then, the distance hetween
the two objects (in feet) 1s .
40 wite Jdife 28 Fpdin P Wod, @ IR I8m 0y, 6dd S¥N
fiv Bod Hpdjes AL 45°, 45° ey Eongs Igamw. Cob S g
Erdiw (wbhibed’)
$0 B 45 S A AL L e iy e Srd tdingl 5
_¥n (@RS
(a) 160 (b) 80\3 80 (d) 402
Ifthe n™ term of the Arithmetic Progression 1, % ) 21';- , ... 1520, thenn =
wﬁfﬂcﬁ b 3 2..2 - 6‘ n HLEE 26 wd, n Jesd
3 A
5

n=___ .!’f?&J.eJlmfhz. |2| Ha‘L‘%ﬁPf

51 {E} 52 () 27 (d) 26

15. The cost price of 10 arficles is same as the selling price of 8 articles. Then the gain

16.

percentage is o 2
10 Sy ) 3¢ 8 H0He ehnlo 30 Wridd o wdo

SridiBine il st piuinaiSuleno/ ¢ ®
@ > (b) 20 (c) 30 (d) 24

The sum of the angles of a triangle is (80°. The angles are in the ratio | : 2: 3.
The measure of largest angle in the triangle is

28 | Bebatnd’y Fore Ddin 180° o e |0 213 Spadt g

00808 W ol dh), Desd

;H'rr_...ﬂ:.....w !'l‘,}fm-r""gl 2 j?téu.gsl.rfu-_!ﬁﬁ".sr‘ﬁ’_-ﬁ nbuff._.b
P

(a) 60° 90° (©) 120° (d) 150°
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17. A sum of ¥ 28,600 is to be divided among A, B and C in the ratio of 5: 31 .
Then the shareof Bin T 15

345
gr. 28,600 ey A, B, C o 71 20 ¢ S0 Dodbe i, olpth B alsy

)
i (.ol

"erf(:_,i?).dB:U:fL.szu i Tl Be quc_-ﬂ- £ % 228 6008
9.600 () 12,000 {:‘:} 9.000 (dy 10,000

18. If the area of a circle decreases by 19%, then the percentage decrease in its radius
is
a8 0)8 drogo 19% éﬂ‘&a-ﬁs & argardo &'n debdomdo
0WnCu i &2 P ad L s e Tl 19% J ke F K%
(a) 8% @) 9% () 10% (d) 19%
19. (60% of 48) + (20% of 18) =
(48 < 60%) + (18 &* 20%) =
(60%¥ 48)+(20%F 18) =
162 152 142 132
5 ® 5 © 5 @ 5

#

20, Initially the distance betweenithe thief and the police was 50 metres. The thief is
running at a speed of 10.8 kin‘hr and the police to catch the thief running at a
speed of 14.4 km/hr. After how much time the police can ¢atch the thief ?

(a) 1 mirute 40 secands (b} 1 minute
@ 50 seconds (d) 30 seconds :
o, CESdd B‘w@g Lﬂ-éozj“éné‘ 50 5]:&:5 drdin S, o HKohd
108 8.5, Swsts, Horb LYEBomD YLssmd fob 144 8. Irnbws'
DERD ST, dod Uhicho Sdard Forfre SEdad dwsbiud ?
(3 1 opso 40 Ve (b) | Jediio
(@) sowsp (d) 30%EH
&&Lﬁiﬁ.fmww_pﬁm.ﬁ;ﬁms knvhesg- & seBE< S0nd Floatisy G
L S AL AR gt e DS 14,4 ke
{a) LEd0us] (b) ]

@ 2250 (d) ~£30
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A sum amounts to T 12,100 in two years and to ¥ 14,641 n four ycars on
compound interest basis compounded annually. Then the princip.ul amount in s

28 i 08 JEG [PsSiw uum;?}e:* Ge. 12,100, sefiehet 1ol
ErdrctTd, ¢ ol Buddn L

.r'dbd’f;.xl*i.L'Lf.,angprch.ch!l-l 641LEL b 112100 2 L|;..4.T.;..,.¢ e
?@pﬁf.ﬂ‘;bklf

10,000 () 11,000 (©) 10,500 @), 500

A leap year ¢ éman;, the following is
(308 aB* iy LobdyGiw
?lLL'?;JJ(J'y’-.;-J-’_.VCg_J._?JM
W (v 2003 :
(@) 19008 (b) 1800 () 2000 (d) 2014

A pipe P fills a tank with water in 10 hours and ather pipe Q cmpties the tank in
15 hours. If both the pipes start simuitaneously, then the time taken (in hours) to
fill the tank is

P o ¥ Bl 28 80 MF 10 fosd’ Jedred. s Q o 1Y 15 dosd?
o B wrd dobifed. Sob Pyed 2590 803 &Y JostrdS D sPeo
(Hotg®)

Bl 158 nEQAFEBAL ko 108 LL AN LS L SEPG
B (L NSILLE A 2 Wb T iU /e i
(@ 25 @) 0 (c) 35 (d) 40

'_['hrcc fifths of a number 1s 140 more than 25% of that number. Then the number
15

o8 Yogg My, wdod wrfody :}m?é ¥ Jowg ¥y 25.«: gay 140 JEnw:
S @ wowg

csayhe iR 14062 5% s 1.#,;)'{1 E:usu;

(a) 420 (b) 350 (c) 360 400

The word that does not fit among the following is
(@) Kilogam (b} Quintal (c) Pound Litre
1800 o8 bt IxSem

() &S miw (b) 8ot (¢) &b bodl
?c’. e L,IJ_.' yii Lfg;}i{,ﬁuf it
@ by S (©) % @ ~
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REASONING ABILITY

The code word of MUSIC 15 21254, Then the code word of SIM 18
MUSIC 28 888 ©-40% 31254 %%, owed SIM o3 898 oy c.'f

e FuUUe sl L sivmbey /v 312842 £MUSICES

(a) 254 (b) 235 (¢} 251 953

If ADMIRE 13 coded as 173456 then the code word of MIRA is

ADMIRE & =8 58 2r08® 123456 o, sond MIRA o8 §5 ol it
o/ L BMIRATE b ric 12345635 ADMIRESS

(a) 3452 (b) 4351 (c) 3415 3451
Tanuja is older than Hantha.

Rama is older than Tanuja,

Haritha 1s older than Rama.
If the first two statements arc truc, then third statement is

(a) True ) False

O d). None of the above
08 So8 Shra by, HBS IR

Sare Zo8 St }x‘g. d o k_.a 8L

dan $0B 08 3.

e Gotb arsges 2y soNed, rGs TSz

(a) 22y @ Sy
(c) Nggom IS @ =y
Ui
- tiepritl
L
:f:fc}!gi /5 ;’-_;ﬁ’ E‘UEJJ):U'JIEIG ¢
(a) ol w
(c) d?/! uii“-é?«:-uiv!

In a tow of children, Ramu is 10 from left and 17" from right. Then the total
number of children in the row is

28 areol SHDET, oodm th@’g; mod 10 2 Q“éﬁmtﬂ"h‘ Eﬂy oG 17 &
ﬁ*‘c‘o‘ém:‘:‘;’a: Suth. wand HHE® o Dudiw 2wl womg

du{ﬁ;l&ul?.:.uul?/b’uﬂr_..wh; basle. I!l(]/"b/ﬂ;r_.-f‘ir,_)’ L«pﬂzih!».f-ju.f

efu iy
{a) 25 26 (© 27 @ 17
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In a class of 70 students, Asif stands at 30" rank from top. His rank from the
bottom is

70 208 Ao 28 S80S D g0l wod e 30D Tl ok, b TG
b CI"’SUE

WA o e b Ay e gt men S50

(a) 39 (b) 40 @ 41 {d) 100

In a club, 40% members take alcohol and 30% smoke cigarette. 20% members got
both habits. Then the percentage of members neithér consume alcohol nor smoke
cigarette is

e¥ £y 40 ity Wod wEgam 30 -a"é‘é:'.h OO drisdviin odd,
20 mdtw Dobs Toh seady $ud). swd B Todolld & vt T
nebge T daw e
LS LA 20%. 3 LS i /‘uy.f 30%il 3 LS G ful A 4% K

e s A e Pl H N
(a) 10 (® 30 ¢ 40 50

In the figure below the triangle, rectangle & circle shown respectively represent
the urban, hardworking and educated people. Which ane of the areas is
represented by urban hardworking people who are not educated ?

BIHID YD 5‘&&6‘ @-ﬁmﬁm &dﬁé:dt:&:: DBaly Dydde HElm Dye Ty,

$508 AN Wodh derghode WrdLEo. dorghodies =2 £206

4t pd R b SRR et ol 7

St el g LS N FE Ao il I ST e 2 A T
R oy P AN nd

jﬁb#- // R Lo

9 PT.0.
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In the following question, choose the comeel sequence of operations from the
operations -, -, x, +, such that one operation is chosen for onc blank.
SIS SO ¢ E“:f-‘ +, -, X, + 004t Rol U8 C.iw'i.m.!cd (e o8 b QU&'&’EJ
e GLULS TOyd Iy Ete,
.?':.J"-LUF’#‘}%'EEL h;:_‘gd;;_guk_b:‘,l.-‘f;_‘ w'- #ung_ u;',__,: I, », Hzlj""v.t#:ﬂ’
(36 - 3) 4-16 ) |
(@ (%) () ¢, 1) (©) (%) @ &9
The total of the present ages of Amar, Akbar, Anthony is 80 3 ycars What was the
tota! of their ages, three years ago ?
oib, w530, wolu [Lpd “mq}b i 80 m&é&é&nu. Sl
RuséyBive (BEhn 30 Dubye Sedis Jod e &0l T
Ol st wa{f‘u} IJ{J lruf-:__'_J L 80 srEK s Ade dﬂn[‘f fe 1

@ 71 yearstdoporeoi i () 80 yearsioo oraiy
(¢} 74 years/OooresiJl § m years/o|orea b

In the following series of numbers how many 8s are there which arc preceded by
an even number but not followed by an odd number ?

i DOYD Lowge HES twath w€ LB bowg doty Shad B Dowg €3
Xfore O 8 o By ?

".L»f.ﬁ&mwiiu-umj.":.aﬁjhf' :’J'E: SRR STV
43852382136803528132284584¢4

| b) 2 © 3 @ 4

Find the odd number out of the following scrics :
B 20 [AeS® Jeor &y Lowghy KL,

AL (N IV Sy SV 1 Pt

3343,.0, 3, 3, 6, 9, 15, 25, 39

@ 9 (&) 15 @) 2 (d) 39
The next term in the series 4, 8, 24, 96 ... is

fidd §,24,96 . & B xSt

Jmn 8,24,96 &L vl

@ 480 (h) 420 (c) 346 (d) 286
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A ltmay causc the sudden death if the adulterated liquor is drunk.

38. Observe the following statements :

R : Drnking of ¢lcohol damages liver.

Then, wkich of the following statements is true 7

(a) A andR are frue, but R is not a reason for A.
A and R are true and R is the reason for A.

(¢) Aistrue, R is false.

(d) A s false, R is true.

1808 Padares fdolod :

A : 5D Ddetn VDode Hud el Hierw Vegilos Sdyh.
R Swdghy (eethe Sob 888 SdhnSos,

wod & 200 IS D8 BoRa ?

(a) A,R e 3ol Juo, A § so8eo R sd.
@ A, R @ Both Jz0, A §58maR.

() Aduo,R by,

(d) A&y, R deo.

S ) 5l

A -*T—-Jcﬁgifﬁfiéﬁf’-?tév';&lﬂﬁ
R : - Gosihe Fi it

e Gl el LS 9007

() - VARG OARAIA
e AR DI RAIA

{c) -Iﬂ- I-‘r!fR.JJlﬁ;:.JJLIA

(d) -&JieRote o3 A

11 P.T.O.
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39. Observe the following statements

A : Bees pollinate flowers.

R : Bees carry pollen dust on their hodies and sit on tlowers.
Then, which of the foll swing statements 18 tnue ?

A and R are true, but R 15 not the cortect reason for A.

@ A and R are true and R 1s the correet reason for AL
¢l Aistrue, Rs false.

{d) Ais false, R is true.

|Bof Ridarw flodod :

A &Epdia Yo pE0m S,

R : 2083 sotefy DEes d3de Yiged Sy m.
ourd, i |80b aEE® 20 LT 7

(@) A,RenTod o, A 8100 sodwo R 53¢,
(@ A RcoBodhdeo, A 845 sémo R,

(§) AReo,R&Ly.

(d) A&y, R=o.

& b M bl il

A _u_'?:}):r?:l,.fuﬂﬁ_‘.fuly’

R Gt de e it W

e Gl Lt immin

(a) -.g.uﬁ’__ré‘ € ARgE Lt MR o1 A

@ o £y AR OHaR A

(€) < iFRegOileA

(d) ~eDlRe i A

40, 1f South-East be¢omes North, North-East hecomes West and so on then what will

West become 7
a}) North-East {h) North-West
Seuth-East (d) South-West
shabo, &dfo ewdd STRo, Viyhly opdod. wiyd LI
Jiviydod !
(3) Sgaw (b) arcivibgan
© «hove (W) Fod
Wt ST AEL T A e b PO F DR PSS P 21
() I (b =/JE
I it (d) </

12
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41. My grandmother’s only child’s husband’s mother related to me as

(a) Mother @) Grandmother
(¢} Aum (d) Sister
& sy Qi) I3 Dortiin db, oY () £08 2 do Lonodiy
(a) && @ Fed Té::@
o W

(c) we& (d) =80

o s 22 sa et iR S

{a) W @ Wiy

) I @ o

42. Which sequence of letters does not fit with the others ?
308 oid® windd w3 [1d

"ﬁﬁ:«?bj L 5} /JJ.:{}JJ;@'BW

1

@ ACE b) GIK
() MOQ SVX
IR

43, Consider the following statements
1. Increase in interest rates results in higher savings.,
2. Increase in intcrest rates results in borrowings.
Which among the above statements is/are correct ?
8D Ly s GrGod,
B el 26A8 Bty LEH®0B,
2. 58 Sdv DONE iy 3o Wibdod,
P gt 00 beghy ?
:..;I{Ji;,;_-.. 'g.rig,tj
Lo b e LSl L s fsr
2, —ebnilnlab fe b niliLussdy
St ol ole Lo Ralods

(@ 1&2 1
{c) 2 {d) Neither ] nor 2
1 57¢% 20Bgtn 2 5=ek
PV I
13 P.T.0.
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Fill in the blan!  ith suitable word :
Clock : Time :: lermometer :

(a) Cumrent 7 (b} Heat

(c) Encrgy 1 (d)) Temperature
QD SO0 . BN ke Lrleizia!

fdoirgin & v donand

(a) [adn 38 (b) &gt
G (&) ezss
s Bl

AR

(a) & b) =7

(c) ijtl} ‘® ..-..-,;'-..73'._1-;}

Fill in the blank with suitable word ;
Cricket : Bat : : Volleyball :

(a) Net

{c) Leg _
Brid 2yo 9O 1T DEts® Grooipn.
1838 wrgdy o Fderd

(6) Hand
- Court

(a) 8 B
(©) s (@) & (v6 hoi)
2 e Bl
Jidhage S/ o
(a) o #
(c) o (d} .“.-J.ir

The shape that follow the below four shapes is (Q. Nos. 46 - 47)
BRIV Twid usdine ddard 33y es~diw (Q. Nos. 46 - 47)

(46 - 41 /I 7 P scabed L B rzp§ s

O P @ P i) P @)
o L x| - | + Tl x
O ey B e @4 o

w £ e 2L w7 w7
@ / O © | @ N\

14
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There are feur  ures, out of which three are same in some way while one is
differcnt frora . sest. Find out the different figure.

&I AT &+ 7 Tt hrd oS Sirigin otr o8 Sy B 3ts Iem
doB, SGm 4. Tyl Lo,

~ r » s = Pirpas : ;
e e L't-‘,-k.!gf'...fl.?.. I-J:rwt""f: 19 g0 o =L Yat’ -3 L.'-J-c_, VAV '.-l{w{lu':‘: bk

o

o A O

Choose the correct mirror image of the given figure (X) from the four alternatives
when the mirror is placed in the planc 1 <2 (Q. Nos. 49 - 50)

Bih D0 Treath Dergimaird® PHE aDyd SE(X)S Lhdutn (29) 1-2
D& (LaDowky SHFMEe. (Q. Nos, 49 =50)

SIELN <285 E T Ll -_;f;q,-jé'uw; LETC LTS

(49 - 02 Y I
X: @l
@ @ (b) ® @@ @ ®

(a) () © (@
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GENERAL KNOWLEDGE
GEOGRAPHY & AP HISTORY
51, Match the following correetly :

I.  Prolaya Vema Reddy {) Tikkanu Somayaji

2. Raja Raja Narendrudu () Emapragada

3. Manumasiddhi (1) Nannaya

(o8 &Rl v adTaiby : . -

L @eat $orog (i) %0 Phape

2. ovzoz o (i) Sejre

3 HhbbY (iil) B5yah

bl _ :

], Jhahy (ySHrté

2. ekl (i) h:-rli;’.r!

3, SRl (i)

(@) 1-(i), 2-(ii), 3 - (iii) (b) 1 (1), 2~ (i), 3 -(i1)
(¢) I- (i}, 2= (i), 3= (i) 1 - (1), 2 -(it), 3—(i)

52. The key person of the agitation for the implementation of Telugu spoken language
is
(a) Sn Gurajada Appa Rao
(b) Sn Kandukuri Veeresalingam Panthulu
@ Sni Gidugu Ramamurthy
{d) Sn Raghupathi Vcnkata Ratnam Naidu
Beath DLHF0E arEf sy Gl hureiydiied
(a) (% WS deIoY
(b) (B Luwses Hdibaro Lodes
() @ncr oiaierg
(@) SwdB FoESSY0 srul:
f..:‘.-_;‘? f!dl:z'_u;..;fé.f. iéﬁd:‘syg}!@
fa) S/,
) Moy
@ &J‘f‘ L'!" if J; ’

(d) ;.:ftr'}..'..; J[i.-':g ’
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53. The freedom fighter who hails from Andhra Pradesh and is comtemporary to
Sri Bala Gangadhara Tilak and So Lala Lajapath Rai is

(a) Sri Tanguturi Prakasam Panthulu
(b) Sri Bhogadi Pattabhi Seetharamayya
@ Sri Gadicherla Ilari Sarvottama Rao
Sni Potti Sree Ramulu | ’
(3 redomEl 808 RO B v eaddorad o Vheddah uohEs
gy Bold Argio|dg UbEdird '

() |3 borterd Hs+io 9 (b) 3 Froedbeobag
@ (8 ma3g 0 168k o @) (3 2¢ Boiue

&AL 200 RS 2 o T o 2T

@ YR (b) e B,

@) mipsegsts, (d) (Huruyss

54. In which of the following freedom struggles, the role played by the farmers of
Chirala-Perala region received prominent recognition ?
Non Payment of Taxes {b) Prohibition of Foreign Goods
c) Salt Satyagraha (d) Sepoy Revolt
JrgSoiEg Lo|mined’ @ ¢dghBebnG' Doy - Dove (FostnE' Sdhe amE
Bedab B 180k onde ?

e oEds (§) D% 5 wbip e
(c) ewy vergririn (d) B Bdibere
STt b SO UL Bis-Ug Ll A STt
@ ﬁ l;lrxd’Jf; : (®) &%ﬁ:?ﬂﬁf
(©) />0 (d) LAt

55. The place where Sri Alluri Sitarama Raju led the agitation against the British rule
was
{a). Chirala (b) Hyderabad @ Rampa (d) Rajahmundry
Rt bovoriome: (D4R 5764 SpBTLHIm 3)dgiw SI0D Fordd AL
(a)" Doe (b) ?du‘u-ﬁ @ 8od (d) o=bod
e L AU PI L e 2B L 2 I
(a) "2 (b) o @ g (d) el
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36. "Which of the following States is not a border State of Andhra Pradesh ?

(a) Chhattisgarh Madhya Pradesh
(c) Pondicherry Maharashtra
sof0aA arirns WOIrLr 3 ol 8ol Fetan?

(a) S85AE @® “s50cs

() S0ddy0 (d) Loy

‘e Lzl PeppilarinSodle JLur il

@ A ® e

) b4 (dy Ay
57. The ar?mual range of temperature is maximum in which of the following Indian
cities _
{a; Kolkata  Delhi
{(c) Hydcrabad d) Cochin
(B0d DY Ry BT dored’ 2008 &S Ker eodtit oQ¥um Hed
@ Sl {b) @Q
(c) Grdoeerd -S‘*DT?S
?fh, t’f,s': i e (G e i 7 s e ;31, 41 usfdth.ﬁsr_‘t}&ﬂ
(a) =4/ (b) By
(€ i @ o5

58. Among the following, well irrigation is dominant in the region of
2&) North Coastal Andhra b} South Coastal Andhra -

c) Rayalaseema (d) Telangana

& (200 >0 (Lordinm PP argor D abin 0 [Frodin

(a) ad58?> uold '- (b) &Em 5 woig

(c) orobelde 8o

e in AR TR B e s |

(a) I#4 “d.u/dF (b) 125 TJ&/L}!;?

() LJv (@) wer |

59. The district with largest population in Andhra Pradesh, as per 2011 Census is

@ Ranga Reddy ?:) East Godavan

¢) Guntur d) Hyderabad

2011 2oy S o sSin woFRETE" wdihs uvyr o By

@) Yorr3a (b) &rsy Flovdd

(¢) rhotrd @), woowrs

SeVremre WL BT ol g2 T L S d 2011
Lfi_u‘b (b) .,5;111)((};"

& # () e
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60. Kakatiya Canal is part of which of the following irrigation projects ?

61.

62.

(a} Nagarjuna Sagar (b} Telugu Ganga

Sri Ram Sagar (d) Pranahita-Chevella
58 S (F08 DY D A GLe  FBHE ot ?
(a) =ordin ~48 (b) 8eath fod
© toszas @ airsd - 259
e ke P e it Y |
(a) Sofilt (b) Bhe
@ fL'rlsz (dy L4kl

The States which got benefitted first from Green Revolution, apart {rom Western
Uttar Pradesh, are

Punjab, Haryana (b) * Punjab, Maharashtra
(¢) Haryana, Andhra Pradesh (d) Maharashtra, Kamnataka

438035 cLyd'Y DD RS Ie 08 Jibin DU Wwoth of Fold
T
o, g (b) owsS, Sodiorgy
(g wrovge, wo| ST (d) =wforyy, Somed
L L;uildui.ﬁ!u’tia. B el Jorg 1
Ty (b) Pt

{€) ulpilais (d) Sl ue

In India, the coal reserves are mostly found in the nver valley of
{a) Brahmaputra (b) Nammada

(¢) Kaven Damodar

e S8 HEnEt 81 50 SPapet T Qegeo DG LHIaw

ORI O (b) e

(g =30 St
?L{_rxﬁf;_,ddslsd’ Lnf FaJLJJLEiﬁ:E.fuC i
(a) A o)

(C} .'_5;35' ¥l
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63. Chatrapati Shivaji International Airport is located at

((z)) Mumbai (b) Chennai
(c) l’unc (d) Abmedabad
s.gma = oé aub dizveiclnnio R0

(:i} u;’r&a‘uﬁ_&

(B
(d) .J!;Tfi
64. ‘Yarada Beach’ is located in the distnict of
(a) Nellore (b) Krishna
(c) Prakasham @ Vishakhapatnam
‘alrord HT' D 200 00 7
(a) Sgrdd b) (S
(c) |os=30 &'ﬁz‘qﬁbalo
W,
(a) ok {b) &S
© (% (v
65. Mnum Abu hill'station is locatedin __ State.
Rajasthan (b) Bihar
{c) Kerala (d) Tamil Nadu
Frofour v o8 B340 fe oigo
(a) o=2-S (b) D6
(©) ¢ (d) SDod
Tﬁ;glsuﬂwg,,/ﬁjﬁcjﬂ
O (b) k&

€ o @) s
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CIVICS AND CURRENT AFFAIRS

66. ‘In India the supreme power rests with the people’. This charactenistic deseribes
which of the followi~= essential elements of Indian national life ?

. @ Democracy (b) Secularism
(¢} Social justice {d) All the above
‘P CSTEES® Lo 8 S erssdo [Lued’ gvdd PN (o2 wotl
&1 oEmra) 20008 ?
@ [rerdrgmgem (b) SrEEdegnn
(¢) irzd ogatin (d) 2oy
d_;.:ti;":‘d}l;L,rfacut}-'?:‘!"?;uf.}xju';&up'ﬂ - |!"rbr__,' J "‘L}Uz LJ!.',_;':'._',.'LF’!‘J;{“
P
e (b) f}a’)@
© S @) (B

67, The Pnme Minister of India is elected imwhich of the followmg modes ?

{a} Direct Indirect
{c} Mixed - Decided by the President

prdd oo @S (Bod n.iﬁ"zr&ml FoSin n;\ciuu I 0D ?

(a) (g (b)) 5%

(c) e (d) origns Sdond-G

2l f r;.aiu&m;;}d;i\b

{a) =laks (b} Pl

() g¥ (d) S/ s

68. Which of the following is the first State to form on linguistic basis in India.?

@) Andlica Pradesh {(b) Tamil Nadu

(c) Gujarath (d) Jharkhand

rEST e’ arar PELAg JoES SbEndd oy (508 arRdt 36 7
SO SEES (b) SDIrio

(e} fhaos (d) a:tgo&]

. - a0 i .
‘:g:_. L,.“L?.,w {._-./L ,-L:,"’:JI;Q L0y, ,-i::fk.'vf;_}u)l'r‘?ﬁ'ﬁc- U= .-_,t.-

J’-'fg:’.fi" ) S
() =i (d) 8
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Find the correct matching of the following ;

1. Formation of SAARC (i) 1945

2. League of Nations (i) 1985

3. UNO (i} 1919

(308 Trud’ s ol LT

1. SAARCS :"Jf»a (i) 1945

) sewanda (i) 1985

4. mésmg‘.&&ba (i) 1919

ol

L FsasroriL Q) 1945

2. I (ii) 1985

3, UNO 1) 1919

(a) 1-(i),2={ii), 3 - (iii} ﬁ" T=(ia), 2 - (iii), 3 - (i)
Q) 1-Gii), 2 (i), 3 - (i) (@) 1= (3), 2 - (iii), 3 - (ii)

elections in India.

QD;_Q&@‘

One-third of the total seats are reserved for women in

((a)) Rural and Urban Local Bodies (b) Legislative Assemblies
Legislative Councils (d) All of the above

EE Lo T ta b o wﬁ'a‘cﬁ‘ Ardd Ho ﬁ‘a‘t.-ib wirdud
B&ranoBadiod,

(rom hba ym FREVoPL () DerRfes

(c) drnRedd @) Wy

AT A ORI Liit e

@) W Gl by FLlwle

() J’,!’Jbuﬁﬁ' (d) rf"ﬂkvﬁ

Which of the following is a renewable resourcf. of energy ?

(a) Coal Petral
(e) LPG d)) Solar Power
208 0" 28 WYod)8 sl OGS

{a) & (b} YW
(c) SobmgS 2 %8
Se bl B L TE Lere A

(a) & - (b) Uik
() LPG duis”
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7. Which of the following is n . one of the principal organ of the United Nations ?

(a) General Assembly (b) Secunty Council
@) Waorld Bank {d) International Court of Justice.
8ol a3t 30 wgorag L 1 G Poaroliiy 59 7
() Srgrdeanny (b) der wold
oo 2rgo (@) wodgaad argud Sm
f;:__yﬁ'féfﬂ{.fflﬁu}j&dutj
@ FUz by Sk,
@ L () TPl

73. Which category of vehicle drivers arc exposed to road accidents most prominently ?
Two-wheelers
(b) Three-wheelers ;
(¢) Four-wheeler private vehicles
(d) Four-whecler public transport
5‘@ [Sraredt ) D 8o TS Fede s 808 >t 28 7

@ By Yi¥ orarn Tdhes

(b) (B S8 aird Fes

(€) mreald S(se Bg8s arimd Feoes

(d) ~reofh Sipve (e Smarird Sdbhe

fe b/ s bl S ke g SO 3 el ¥nd 15 gy

YAt 2 (b) Utk
(c) ug;rr.:ﬁfb;_{p;xr' (d) 4«;:{’.!}..@,,3;;?

74. Who attended as the Chief Guest for the Indian Republic Day Celebrations held 1n
20137

Bhutan King (b) Yingluck Shinawatra

¢} Hasina Begum & _ (d) Sheikh Hasina Wazid

201335 00hS S’ 2BA% 188 Andod B Eyaras DS tugg 885
@ wreSoe (b) =ofieos Lvarier

(¢y Hhe DS (d) 48 drho >BE

2 P S Ibe (Cr L sk P v 4 L2013 09000 £ 2013
et by esSs

@ 5 @ #wt
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75. Which of the following States in India was exempted from the Right to
Infnnnauon Act, 2005 of Indian Government ?
Meg‘halaya (b) Assam
Jammu & Kashmir {d) None of the above :
T SSTHE 05 DO orirec’ O oolyhn o8 [DatEY Ciral sy

n‘.’ag.;%m - 2005 208 dPwodudad ?

(a) Hiread , (b) w30

@) =& k5 (@) WI0sH
"VU’JQ’:’.ZUOS:UH(J" bl.ﬂ..ﬂ:)...-LJ*'“"J:_IJG:JLJJ&JU':”LJJL':HJJ:
(8) ®

@ /y Iz A () ,f.“'uf.:..;_,:.:ﬁ

76. [n the month of December, 2012, in which of the following States the gencml

etections were held for their Leg:si.:tne Assembly.?
(a) Gujarath . (b) ' Himachal Pradesh
Guyarath and Himachal Pradesh (d; None of the abeve

2012, &uoud Jud' BHED L™ J ;e dod WD Sode gw
&bmon 7

(a) rzod (B) 2rbeod IR

@) #eo Lok bardd (B85 (d) 23 s

e nelFirel LKy ;s't,_c:.-t;,g*f; LUl if 201245
(a) atf b) Jf&;..ﬁh@ J’fr.;»ﬁhﬂ'-‘f'/{ (dy SAbe Lo

77. What is meant by ‘Light Year' ?
(a) Longest year
{b) Number of days with sunlight in polar regions
A unit for measuring distance
(d) Volume of the light transmitted in one year
'$208 DoRa Ty’ b 3 ?

(@ bgmb tobdysiy

(b) Gy (Froered’ darast de Hike Bdhwes
(@) &rowo Sod Khraky

(@ 28 Vodd e’ Libood 5708 Hodrain

ﬂ;.;l/'yr'c_:r V'
(@) treor (b) :Iﬁdbf;Lw‘.gf 5bﬁ1{u}m¢“
© e () AafHatninJunt g
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78.  Which of the followir g 15 true about Zcbra crossing ?
(a) Itis another namc of speed breaker.
Tt is meant for ¢:2ssing of pedestrians,

¢) Vehicles sheuld :Iways be stopped here.
(d) Al the above

dar |sohidh Lozofod |Bod i<’ 8 Ddzin 7
(2) = Ins @6 L homgah L,
20 oo duw 5‘@ OrRGEa S LrToon.
(¢) adrarw q)ﬂ‘)é‘émm afd umrd,
(d) w5
?‘E”M-;g;;#"‘ﬁ'.grﬁf.;:c. Lt
(a) -e=rllfiriyn
e L L LSSuind unSe . Ak
(€) ~&pWukettfye
(d) Vs

79. The Telugu Film Producer conferred the Padmabhushan Award of the year 2013
given by Government of India is

a) Sn Aswani Datt b) - Sri V.B. Rajendraprasad
Sri D. Ramanaidu {d) Sri Yarlagadda Prasad
&8

wib Jom8H rdd Labdetn 2013 © Dobddydiwet Lras vard
au)ed ?

(2) (3 A8 (b) (}D.8. oo PG
©) && oo d) B argng D8
St S A s e i Wit s L 2013500 B
(a) Eadrids (b sl.-.;;.:?-':fx.;j-d:}/
@ yEIP 315 (d) g isdy
80. The author of the book “India 2020 — A Vision for the New Millennium” among
the following is
Dr. A.P.J. Abdul Kalam {b; Sri P.V. Narasimha Rao
€) Mrs. Indira Gandhi (d) Mirs. Kiran Bedi
& 808 0" “modalr 2020 - 3 DS D5 & g BONSE" & PE SiSaws
@ Q0B o S8 (b) |3 0.2 Moo
{¢) |32 acdor Mol (d) P43 886 D&
St L e "India 2020 - A Vision for the New Millennium "
A ) [ ) Mgy
() Usfui @) Sxo/oF
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GENERAL SCIENCE

81. Pis the pitch of the screw, N s the number of divisions on the Head Scale, then
the least count of the screw gauge 15

- B,
owredsin P, du o Jeeme Rozg N sosn, W) de anf) Lol
Sud

(b} N/P
(d) 1/NP

82. The radiation used to take photograph in the dark is

{a) visible radiation (b) microwave radiation
(© infrared radiation (d)'" y-faciation
QESSt et Bdernt &LdrNod DiSerw
(a) &)F*S8 Q8beres (b) DE' S8 S8eres
@ St DAGEres (@) y-288tres )
Se bR L L TRl
(ay Luiids () Chdntl
@ Ll ad (@ Luy
83. The S] unit of magnetic flux density is
(a) Gauss (b) Newton/coulomb
@ Newton/amp-sec” (d) Newton/coulomb-m-sec™!
wb o8 ES wharie 0BS abE) SI Birmi
(a)y s (b) ErguS/gresoss
@ hﬁgé&ﬁ’uoboﬁs-iﬁz (d) ‘é:vgt}.s{é:“uc\ﬁ-b S
e U dnisid il J;'Lr-'b 2
@ Jf . (b) Al
@ 2 xals (@) A
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84. Resistance of a conductor is proportional 1o its length and is
proportional to its area of cross-section.

(a) inversely, directly

@) directly, inversely
(¢) directly, directly

(d) inverscly, inversely

ird WS oD PEYD
Srorgll & doduod.

(a) VSTELIS0, sHSrhddo

@ osstrsaso, otmsso

(©) wdhrbdso, shdarbdrso

(@) Db, DSHrhIE0

e Pl L&re JELRet LS E e S
w (o

@ R

& aotnod Dol o aoar 3‘.:1:4_:’:513&&6

(c) e
(&)

85. Unit of measurement of the consumption of electricity in houses is
(a) Joule {b) Ampere-Second
(c) Kilowatt Kilowatt-Hour
at)® MGrnod g 80 EOT ety
(a) T (b) woclab-AEW
(€) &' @) &t drios
eSS Lo )

(2) Uz (b) £-48
() n¥ DA 1
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86. The pll value of pure water is
000 o by pH Decd

-.:*_____J.Ep}{;,rr-j'.'.u:]-‘é

(@ 4 (b) 3 ©) 7 (d). 6
87. Semmconductor in the following list is

(a) Silver | @) Silicon

(¢} Rubber (d) Gold

[Bch oS Dehogs wf arirgo

() Boa OESS

(c) GuyG (d) nemdE>

P L AT :

(a) Jxl @I orog

{c) « {d)  ts

88. The umts of Atomic size arc _

(&) Angstrom (b) Flectron Volt
(c) Mol (d) kilo Joul
Ldre a'gé-gu gy ofrvoiy —a
Jofigro (b DegryS ¢
() & (d) 8&fard
e YA
b (h)
© o @ U

89. Who proposed the first atomic model ?
(a) Ru:-har__fnrd (b) Max Planck
(c) . Niels Bohr @ J.J. Thomson
wirm Shrar wde Jod [Ladrtomrt
(1) Grab06 (b) 8y arof
(&) &y oS @ 2.2, rhnS
SRl AU en e )
(a) 5;}1;5; (b) it
(©) st* (@ V-
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90. Inapenodic group the ionization encrgy from top to bottom.
decreases (b) incrcascs
(c) first decreases, then increases (d) first increuses, then decreases
2.8 BB 2P’ Lol 5008 cWiEdn 33
Bith (b) s
(c) b &7, VED WD (d) Rwe wln, 20 Shw
i (&.‘*@2}:37};’5“?;,‘JLﬁ:'Jf‘;L.kéc.{ﬂJ?ML‘m
—I -
& (b) O
- - L 3
@ CrAc=Fk (@) 9 A

91. Which of the following is a strong reducing agent ?
1800 ¢S weDS $ubEdn 52858y I8 ?

e (UL BINS A e L )3T

P

() Ci () ca
() S @ Rb
92. The glass vsed for the preparation of cIei;ufical bulbs s

{a) Pyrex glass {b) Flint glass
Quartz glass (d) Sodaglass
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93. The chemicalused in the preparation of cool drinks is

{(a) Carbon Monoxide @ Carbon Dioxtde

(¢) Methane (d) Acetylene
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The sugar which has lowest sweet is

{a) Sucrose Lactose

(¢) Fructose (d) Glucose
1Bod 5RE° wdgen Sabgdto o <88

(a) WoE'E o8
(c) @& (d) drE'S
‘e drfe st Pt

(4) nF ( e
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The following blood group candidates are calléd universal recipients
800 Sxbd0k KNS S Jig (i Botr .

e bl (6T a0

(a) A (b) B

(¢) O AB

Normal blood pressurc in a human being is

EEHE® oo 68 idbhe

te bl 2, b U

(a) 1207100 (by 120/9¢

() 12080 (d 120110

The part of human brain which maintains the cquilibrium of the body is
(a) Bramnstem @ Cerebellum
(¢c) Gyn (d) Diencephalon
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98, In plants, the kind of grafting in “V” shape is

Cleft gratting (b)
{¢) Tongue grafiing (d)

“W" usdod® B OEC) DL

25 voluEld '; (b)
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: .:;.F_}FJJVI;;JUJJ{J;P W

S (b)

() HLE (d
99. HIV concentration is more in the following.

{a) Saliva (b)

(¢) Urine

HIV roé (Bod ardd® 305

(a) orormoiw (b)

() s

- brnl A HIV A

(@) JF (b)

(c) i .

Approach grafting
Bud grafting
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100. Which of the following diseases is causcd by the deficiency of Todine ?

Goiter (b)
(c) Diabetes (d)
w@rda S U0 by ) gl
anks (b)
(c) Earsad td)
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Anemia
Rickets
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